

$$2x + 6(8 - x) = 4$$

1

D

$$-3x - 2(-4x + 10) = 35$$

$$-29 = 2x + 3(22 - 7x)$$

2

E

$$5x + 3(x - 10) = 10$$

$$7x - 6(-2x + 13) = 55$$

3

L

$$42 = 6x + 5(2x - 14)$$

$$-160 = 2x - 7(-3x - 10)$$

4

T

$$-52 = -6x + 2(7x + 14)$$

$$2x - 3(-7x - 16) = 186$$

5

A

$$7x - 7(3x + 10) = -154$$

$$138 = 6x - 7(6x + 6)$$

6

E

$$7(-3x - 38) - 4x = -141$$

$$7x - 2(5x + 10) = 16$$

7

P

$$2x - 2(3x - 7) = 62$$

$$4x - 5(x + 6) = -22$$

8

S

$$-5x + 6(11 - 6x) = 394$$

$$-3x - 2(x + 2) = 51$$

9

I

$$7x - 5(3 - 2x) = -202$$

$$4x - 2(4x - 27) = 90$$

10

L

$$-12 = -7x + 3(x - 16)$$

$$-5x + 6(-6x - 3) = 228$$

11

O

$$-2x - 5(5x - 21) = 267$$

$$4x - 3(5x - 1) = -8$$

12

N

$$-10x + 7(4 - 3x) = -3$$

Řešení:

1 D 11

2 E 5

3 L 7

4 T -10

5 A 6

6 E -5

7 P -12

8 S -8

9 I -11

10 L -9

11 O -6

12 N 1